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Answer1
3x—15 x
Diagram NOT
accurately drawn
2 2x+ 24
The diagram shows a parallelogram. & VAW CILATEY A
The sizes of the angles, in degrees, are
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Answer 2
The diagram shows a garden in the shape of a rectangle. ?g}@m/( ETEYC = 2 ( L+ DJ) f
B L =4+ 3x R -
: - A
Diagram NOT
- accuratcly drawn
x+6
v
All measurements are in metres.
The perimeter of the garden is 32 metres.
Work out the value of x
Yerimetor = B2 o
72 () = 22 1
x - B
Z(Cp‘fzpc_ +Dé-té> :‘32 ?éjzzf
—~ > = ;erz
7/(@;( +10) =32 742
u
Gaok - - <2 > = 2
[ g x + 20 =572 2
LCT > = (-
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Answer 3

(b) Solve>” ’(2_7}’} 1 xS
Qrof K, (2-4) — [»S
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2.4 = S
S0 T4
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Answer 4

" Cese Ce LT

M\
(b) Solve 7(x+2)=7
N

G P + & = 7

T 7 -2
=2 +
e o
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Answer5

Simplify 4y+2x—-3+3x+8
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Answer 6
ABC is a triangle.
A

Diagram NOT

accurately drawn
3x-5 19 —x
(Sosc eLex
B G o

2 (i (Arac LES

Angle ABC = angle BCA.

The length of side AC is (19 — x) cm.

The length of side AB is (3x — 5) cm. < ’4—? - A C)

The length of side BC is 2x cm. | e S —
Work out the perimeter of the triangle. 5 /
Give your answer as a number of centimetres. o

{’ (N Dt '\l/

s -8 = |9 =2
b -S =19
s g -+ g
L. = ?__i*
L &
x = t
RS it

e

(PEBT,IM'E_TWL = Z)f—g + 1a- & <dx

1

Zx,é_'g + 9-6 1+ 2564
¢ - §  + 14 -6 + (2

_ <g
E (3 + |3 + 172

1)
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Answer?7
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Answer 8
Solve _43f =2 CQG F Ctﬁdﬁ (er
FroD AaScwer
-3 L 2x¢
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Answer 9

ABCD is a trapezium.
STUYV is a rectangle.

A Tx-2 B

5x S5x

D o2 ¢

All measurements are in centimetres.
The two shapes have the same perimeter.

Work out the length of ST.
% -
(" e mecer.
O =
(AfERLp

P~ «Sx «95-2 +5Sx =

Diagram NOT
accurately drawn
S Sx+5

4x 4x
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S 1] —
Solve 4&72 =<] + w) x &

=
CRoF: J1-w = ¢(1x)
Nt

Ceof

[l-tu = e *ew
+W “+ W)
| 1 = L+ S
- & -4
2= £
s
_Z; = i)
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Answer1l

h GE@F CreR LET

Solve 4x -1 N x+4
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Answer 12

The diagram shows the plan of a floor.

15m
| ]

Diagram NOT
8 m g x($ accurately drawn

. 2@
- S

The area of the floor is 138 m2. pa Z?C z @)

Work out the value of x.

Aues - (28 L2

—
120 + 3(5-x) = 138

JE—

—_— e

CRoF Gl (£
C 2se — FaD) ANSuer
20 + &S -%x= 138 =y
—{'g)L + 3¢
B ) S
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~12¢g ~12g
) = (g-2¢g
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Answer13
J15=x% s ~
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Solve ) = 10 CtoF Ceot Lot
248D 2 bt dpome B
= y (e =%
4 (85 7)) = 30 ‘D T =
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20, ¢
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Answer15

x+1 2x+5
+ =2

* Geor Ceog LeT
Gaoe MO ) - 5 EinD Ao |
R

Solve
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s ;oel) +3 Z)af§) < 2%
N N—""
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[Ooc = S
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